
 

                                                          

Step 1 Step 2 

Step 3 Step 4 

This Pack includes: 1 x right side, 1 x left side, 1 x 
seat back, 1 x seat base, 1 x 5.0 100mm screw,    
10 x M8 bolt, 10 x M8 nut, 10 x washer. 

Insert 4 x M8 bolts into the pre-drilled holes in the 

right side leg. Ensure the bolt head is on the out-

side of the leg.  

Position the base on the front 2 bolts and bottom 

rear bolt of the right side leg. 

To fix the leg and base together fit a washer and 

nut on each bolt and tighten with fingers. 

www.charlestaylortrading.com 

info@charlestaylortrading.com 

Required 

1 x 13mm spanner 

Pozi 2 screwdriver 

 

P.T.O 



 

                                                          

Step 5 Step 6 

Step 7 Step 8 

Insert a bolt into the pre-drilled hole in the arm 

rest of the right leg. 

Position the seat back on the 2 bolts of the right 

side leg and fix in place  with a nut and washer on 

each bolt 

To attach the left side leg turn the bench over, insert 5 

bolts in the pre-drilled holes of the left leg and position 

on the back and base. Secure with  nut and washer on 

each bolt. 

Secure the back and base with 1x 100mm screw. 

Using a 13mm spanner tighten all nuts. 


